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Qeuw edanansst QewwnGg — &edena
elanfléy Lmeneuset Bl erwinGs”
\)}Q Qumiggrgyo x QumiuwnGs (B) Qumuggrand x GewwrCs,

(C)y Qumigsrayb X eweaunwnCs (D)  Qumiggmayd X aniwrCe

68. Suase_ Qannsenen erg) erfrsbera @amea?
(A)  Qauwigss X Aswiwinesio ‘/(B’f] BEHOWMUG X (LEHEIDOWTETE)

(C) uLOms x upmeSLe (D) Qumist X Qunigge

69. Spésai QemhsErer ergy erasQEnd @) deamen?
(A) sevolulLear X geoL UL L e
(B)  uwdlgige x LddpsE
(C)  gnyeny X wyLiyer

- - (/(Ei) unenegw ey Cuint X grgyflwwnsds CuaGeum

70.  aunsHL ewwUGmand S Hlge :

Geueven BemmraLs Lig 5550 CaTelled (psa wAHUCUERT GUDHMHIE — eTaieUemsE uTSHWLD aed (s

(A) o ewmrFf eunsEwin B) e Leurl(® eunsHuwin
(C) senelenen cursdwio \/@) Foenay aursHwub
A 19 HLT12
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71. =6y eflmely Gariasner &1 Qauis :

(A)  Co_wid, D50, Gi-b, SL1Dd (B) Q8. Cswb. sLb, @b

(C) @@L, s, Gsiww, Qs }D‘)‘ L &L, G, Gk, Garuid

72, “apadl mie” e sien Gumd Carare pid wing)?
(A wealCuosme \/ﬁ) Feus Apgroa

(C) par_wtsb (D) aveemwrud

73, pBmEaNHE Sy hag — @iy aanp Quuwrslatadean auams ibls.

\M woallanwg QsTdn6uwr B) Qar@nQuuwr

C)  yaeflame Afpg AsmPHG@uwd D)  sreuuwr

74, Crvldsnm GNEHE Spssamr_eupmer sflunerg eT&?

(M emal  smdwemg seulr saduugCu  samais. CupGsrer @GOG GLbllumb.

aparcfleas GuwiTaer @i bQumpib

B) g@arsadluems SiiuigGu Sanmoed SIWEMT & eugy)

©)  ¢©sudaws Agefauras QafeiagL

(D) eSamnis QuimmeT Gmb eurGSu

HLT12 20



75, Sameu(miD (@) a0ds et bl S(EHET AN TS 6TE)?
(A)  woeubs - edibern elwukCarar eflanes pHmy
\/@Bﬂ SiNsaorsan — eSlaansblsme
C)  weigd Lo - %Q)U.Lb Ceupmerwsbgrens

(D)  eweusumer - o NeG@amnQmme v

76.  sefl@hi HeuTsw @uwnHEuwmb Qunmhgdn sllwinea el eaws Casrras0 :

&6l @p GupQuusr
(a) samETgNFaT 1. gnasCarume
(b) eunaxlgrgen 2. suyrsdHend
()  a&ysT 3. earshras
(d) ungdgngen 4. (psd LT

(a) (b) (© (d)

A 4 3 1 2

B) 1 2 3 4
(®) 4 3 2 1
(D) 2 1 4 3

77.  "Gagm wenent Geliyeu gen_Gues”

g Camg L Waraedlen QagsenTd wng?

(A) Cesuwenws &L AB) Qs adivenpn QUwErEsd
(C)  Neven@ugsid D)  geuea sdamanapmmy
A 21 HLT12
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78. el aCanm alaimenas Ggis :

“ell(pEs WD GatLITelfg o sl 16"
(A)  efmasiur fmlcwwgn? \,/& aSl(mERD un(heudled e wrbseuT LIT?
(C) garurag? M)  Awgstw sbuan?

79. e &Csnn eflarmeanas Gais :
“Bllenang Wanp phellamer prsGw’

(A) Bl Caver aaat Glaiu CaueimBn?
ﬂ) B Selenan Brig Bmb crenest Gauin Gt Hin?

(C)  pheSianar mbemio eraar Glgwiuin?

(D) mliien wri?

80. ‘'upe e GuwirsQarwaler s Ml :
\))()‘ GummLGLwr (B) srelGuwr

(C)  wewn (LQLIWT D)  wanggbd Qoanw

81l. ‘Qampens’ crenm QLwisQaranaest cums il :
(A SHevarLGuuwi (B)  asraiQuu

(C)  veryLGuwWr VCD? @ OGLr

82. ol Gaupnu(p =ileg sflwrer Aummener e :

\/3()\ wirena - G

. (B) safimy - F(HEEHD
(O smew —~ GDPDES
(D) erAGQummer - &EOD ]

HLT12 22



83. CeunsQanyvena Agley Qs

GUITly 681 T 601

(A)  eur (B) eumguw

&Xl aIr(® D) eaun@®s

84. msm - aengyd Geursblgmvaler QgsmAntuweny e(pgs :

(A msEg ‘/(Bﬂguasr'rg)ei)

©) morHs (D) ms&reumes

85. ulywae [— o erer Qerpaenar Ligwid [I-a o arer Qerpaafian Quinmerdpg @HuHsmerd Qameae @

GMN&saL.

Gansd Quirmer
(a) sweld ' 1. GUETLDO et
(b) qome 2. by
(¢) v 3. adeney
d)  siey 4. sTweT

(a) (b) (c) (d)

(B) 3 4 2 1
(©) 4 2 1 3
D) 1 3 4 2
A 23
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86. a1 ~ erangyd Ceungblandvedlan eflwrkiCamer ellapan(ppenm 61 (DFidk.

(A e B) et

o/
ﬂ ST D)  ered

87. QarRislin (aven Ganpa@Ehasnal Blesdseand @i salld aMes wrprg e Gleaamang Carey

Qe .
@A, 568

‘}A{ ellenenggrens, LerTLsLHTans (B) uerrygQsrens. ellenansbsmans
(C)  uanysQsnems, LaTysCsTmE (D) vemysQsres, o baws6sTans

88. @&l Caumyuir(y sifipgy #Mwren Qummenar Mg,

</

o e
\}/(5] HLE DO - Uy
(B)  wewpsso —~ BLG) BIEHE
©  udmy - HNDPEHD
(D)  Cuorgy - Bier

89. Qanpsmet EELHSH QEaTHADTLTTEEE0.
(A ufde san( unfeow Lmyw sGeT QUODTT
(BY  urflenws sen() a@ewr Qupnrm umyg uflled
(C)  sear(y Qummrr ufife umg sler urfeaw

/(B\) s G arurflens zaar(D LMy uildlé Qubmrr

90.  Quipnesii — Qassans GHLL Hms.
(A) Qsnavelans sjer@uen B) rplslL afHinvep QuuiGyFsD
\/(,GQ Qedinjefiens sier@uen D) @eedewsweaQuen

HLT12 24 A



91. el Geumun(y sidlpg sMwner QunmenarwdlHaD :

sang senm
(A)  geos - Ciosw
(B) <SiwEse - SO S
©) @wss - s(mUY

\/(D)’/ GETHEET - FOTRIGLD

92.  ‘wruuneeu Brasta 2 LA W@EHL o Gure’
arenm 2 euanibuien Quimmeneng CaIHOS(H &S :

M i Gaue B) usgemiay

€) vwLEsew D)  apwné

93. 2 aumwsE goHp Qurmsswrer Qurmanar CsiEQsHHS eT(WEIS
"o 5 Hlanasemer HHUTEHWmSHDH”
(8) &Awb uroyo Gure (B) Qweyarss defl Gure

(Ch Sewimms seuaner Gume (D) @enalien u L yep Cure

94. o oeumwsE gnm urmsswrer Qunmerer CaTHEALSMHGSH CT(EIS
“gafludmas srl a9 moGug Gume”

Lﬂf\a@wmm (B)  =iley

€) Qeumiy D) Queéy
95. yeeurmpmLiueL earn et @wmduiréd @Hlsaubumh B
\/(Aﬂ HEPpHSTHHLILML (B) Quammrrhmyliven,

(C) AguremrrdHmiienL (D) QumburemrThayluenL

96. QuuwrEReraaar wend HHs

@aflenwo eramugy
(A QummlQuuwir B) AevansQuurr
‘/(,G)\ (P (WTNTATINE (D) QgrPn@uuwt
A 25 HLT12
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97.  Qunmsgie

(@) LreLTapoed 1 (PETEBLD DA (HLD

(b) 2w shdgen 2. Ceunser

(¢)  @musTHS6 3. 50 Serd @,

(d)  Emeiyanineni 4. wrammafl wallgrser

(2) (b) (c) (d)

(A) 1 3 1 2
Bl s 1 4 2
(®) 4 2 1 3
(D) 2 4 3 1

98. "99 wersemer QamaTL HIw Wng)?

\/(1()\ @Nesdl un B (B) uvlgeliurme

(€C)  Hmeposrmdnuuem (D)  QuamprrHoLueL

99. “@wwel YarlluGendl eurpgser @eNCs” QummeTLHL B Wrg)?
(A)  @ewenm proUg (B) sranwefsaqms

\}Z\ @aflwene BrmLIg (D)  sareufl mrHLE

100. “w@ssdley aeilgmum” aram iep&SUUGUGUT Wi ?
(A)  @rrmosssdlg seQgrw B) selsarerGuab

\/(Z(X 2 Heme BryruaETEses) D) SNsgredur selgrwmm

HLT12 26



101. Match the following :

(a)

(b)
(c)

(d)

Speumeuareunenm sflwirs QUMmSEs :

(a)

(b)

(©)

(d)

(A)
(B)
(C)

(D)

(a)

(PTERTTENG)

(a)

2

State Governient

(b)

(b)

1

Q]

Appeal from High Court

Single integrated judiciary

(c)

(c)

4

Dispute between Union and

Declaring a law unconstitutional

(@)

wiSw-wrhle sirssefler Grssmanser

@@ sL_Lb 7flwed srsanshn

e wrBdweamsHdlmbe Cued wpamuSL(

oo pEHRd@abs bAeapd

(d)

3

o

e

27

Judicial review

Original jurisdiction
High Court

Supreme Court

B8 wmy ey

(PERTEOD YHTT KNS &TTD

2 wirHuwarmid

2 FFf e

HLE12
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102. Consideyr the following statements :

I Kwashiorkor is a protein deficiency disease

II.  Kwashiorkor is an iron deficiency disease

I1T. Kwashiorkor 1s a nutritional deficiency disease

Now sclect the correct answer.

(A) TandlIl are correct (B) II and III are correct
V(Iff [ and JIT are correct (D) All three are correct

Sipasen cunddunisamens seuaf :

I sCeunadlgrant, yiss @eneird amd Gomi

II.  sCeurnaflgisnt, @MDLLESS G peume aurid Crmi

[II.  sCaunaflarsrt, ssgamey GdDaima eumbd Comu

eflumran elen_w g GsTrb g0
A T uwpmyn 1T s (B) 1l womw III &l
(©) T womyw IIT & (D) eparmin gl

103. The younger leaves of a tomato plant in your garden shows interveinal chlorosis. Select what

supplement you will give?

(A) Sulphur \/éﬂﬁ Iron

(C) Copper Dy Molybdenum

o s GsnlL ghlapater goarafl Gaguiler @Gad Gomesal®. prblla_sald uFemsgund @i

el (DA SBDE, Brisd eraen she) el Siser?
&) sH36L B) by
©)  smdgn (D)  wrelligend

HLE12 28 A



104,

The soil zone 1s considered to be a great biological factory because;
(A) a great varieties of organic compounds are generated in the soil layers
(B) necessary nutrients are made available to plants from the soil layers
(C) =oil layer holds water in storage which is used by plants and animals
o .(_TB . all of the above

2 fAens QampPnamepaulen e (P& ARSDTS W HH&HE arhiEmHng. glaalio;
(A)  war SO&EGsT ugriul L 2 GTEAUTmHeT 2 HuUSE eueTT&ELNE SN
(B)  wer ABGEEFAC BB, sTeuThsEssE Comawear s5gEs6 o sdens)
(C)  sreugrusEns e, sdwkEsEnsEl Comaeuwna ST wa 2B Calgs meausaiiu® Hang
D) Cuhamdu simarggibd

105. Name the neighbour galaxy of our own Milky Way galaxy.
(A) Antha (B) Aquila
(C) Andromeda (D) Auriga
BLg Lmeeuy eflarSar sl LgHlan Dimsenwhs edlamben salLgdlan Quuwi.
A) e Swr (B) a@eon

JQ)’I <@ CrrGuoLm (D)  <hsn
106. Every vear, May 22 is celebrated as an

\/(?Q International Day of Biological Diversity

(B) International Day of Tree Plantation
(C) International Day of Environment Conservation

(D) International Day of Conservation of Natural Resources

gauQeurm e G 220 Cedenws Hanors QenaLnHHCmmod.
(A)  ueenT () TEUT LUDGIEHHEDLD BT ET

(B)  werenm_() b B mrew

(©)  Lanant () sHmE G UTESTEED preT

(D) veent () QUihens uaTEeng LTHISTEEWD BIET

29 HLE12
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107.

- 108.

Which of the following is/are wrong?

I The Indus people had the knowledge of surveying and geometry
II.  Indus people had the knowledge of Astronomy

III. Botavical aspects were very familiar to the Indus people.

(A) 1 By TandlIl
ol
(C) I, Il and 1] are wrong \9}7 11

19l 6r6u (IheuETaU D MIET FEuDMEsTenay eT&)/ sTeney ?

I Spgmuued wsser Ha setae LHMD euer safllsw LDHw sidaen’s QuDH(HBSET.
Il &gl uEd vssepss eurallud sidea) @(@HsS.

I sreus Quier mbsmseeris undl g &5 E%EE, berE 0558 HHss) .

(A I B) Twomw II

© 111 wpmo (b seuy D) 111

Which of the following Vedic Literature contains the fine specimens of lyric poetry notably

addressed to the Goddess of the Dawn (Usha)?
(A) Chandogya Upamishad \/23{ Rig Veda Samhita
(C)  Yajur Veda Samhita (D) Atharva Veda Samhita

Eipssenr_ aihs Cous med aSlipwe dues Qguaiwner (2 agm)-eneu UMM Crigdwiner Gevalniml L s

LML 5568 LML e&anar Q& rarr (DeTers, ?
(A)  s5GsTs 2 uflesbd (B) M& Geug sadgw

C)  wggor Goug sbadsLd D) sies Ceug sbalsd

HLE12 30 A



109. Ketone bodies appear in the urine due to diabetes mellitus during

\/(1’(5\ Ketosis (B) Albuminuria

(C) Creatinuria (D) Myoglobinuria
Brfleften erbs Hleneoutey HmykAe CLrer Qummenaser Caranmin?
(A) &ECLden B) yeoydanfur

(C)  ARwrigayrfivr D) wGuneEGarmSgnfluim

110. The GPSisa
\}Aﬂ Satellite based system that can be used to locate position anywhere on the earth
(B) Satellite based system that can be used to identify the type of forests
(C) System used for measuring earthquake’s magnitude
(D) System used for assessing population density
GPS aranugy
(A)  yeulenr Cupugule oerar @Lmsellan sewwelgong GeunamssCarasdar paw idHs
Qamnerened
B) ar@seflar cuanssener QeLinanssCaratser aped HMlbg Q& Terare
C)  BHe freysaiar uflinreamgens QswubamssGararaer apabd HMbg Cararard

M) wssaLigHuler Lgaime QewbhessGsTaad ipab i

111. Sarva Shiksha Abhiyan (SSA), one of the major important educational programme 1is

connected with the

\/@) Elementary Education (B) Higher Education

(C) Vocational Education (D) Aduit Education

‘sirey Asaer sQwrer (SSA) erayn (pa&dwisrer soals Qaraenswneang Qsalan Qgmiye L wg

(A)  dgr_ssasoed dlane (B) ecwrfensas saed
(C) Qgmfinsaad D) wHCwri sevel

31 HLE12
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112, If the GDP 1s measured at the price prevailing at a point of time, then 1t 1s called
(A) GDP current price (B) GDP market price

y\ GDP constant price (D) (A) +(B)+ (O

@ oML Crrsgdeo Heoeydan eSeameular oiglumeubies GDP-aw oemellLnrd, oess
Epsaameumy &HUGLmD

(A) pruyeleeuie GDP (B) msng eleauier GDP
C) Hevowrar efienaulsd GDP D)y (A)+ (B)+ (C)

113. The product method of measuring GDP involves
(A) 1ncomes generated from the production of goods and services
(B) adding up the value of evervthing produced in the country during the vear
(C) addihg up all expenditures on final output

(D) none of the above

2 DUSH (D Sigluaudled seredu®in GDP o eateri_sdlwigy
(A)  Qummenset wHmb Ceameusaiar 2 HuGHuilen CLng o (Haunss LR uHOTEID

\/035) S GHUIL eumLsdlea m Briind e hHusd Qeuwin®b eeeunm Hummelen wWHlmLD
& (Heugl
C) ey Hewauda 2 erer Qunmasaiar Bsran Qgwellamen sal (Haugy
(D) Cunlsaraen ergia)w e

114. A higher interest rate might induce households to but businesses to

\m save more, borrow less
(B) save less, borrow more
(C) save more, borrow more

(D) save less, borrow less

218 Gullg eIFLTeTs e(h &HDL UL FITTHEEIeNT Qe gneimHib. peTTed
Qgriflay Bmeusnbsenen

A)  edswora Cafluy wHMmL GemDeUns sLa aurhs gem (Hin
B)  Gompeunar CafluL) LoD HHSLOTET HL 6T QUTTEI &S
(C)  eflawvran CalUy LHMID HHFDIET &L 6T QUM GG
D) Geeunear CaSILL) LOHIILD G®DETET HL 6T QUGS
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115. Consider the following :

I

11

ITI.

IV,

CO burns with a blue flamne
CO 1s good reducing agent and reduces alkali metal oxides

CO 1s toxic because it forms a complex with Haemoglobin in the blood and this complexes

1s 300 times more stable than oxy-haemoglobin

CO form complex with N1 at 50° C and decomposition resulting complex gives pure Ni

Which of the statements given above is/are correct?

(A)

All are correct

\/(/Bf II 1s not correct while I, ITl and IV are correct

(®)

(D)

11.

111

1V,

(A)

B)

(©

(D)

I, IT and III only correct

II, II1 and IV are correct

CO. fe Blng s (mHes sTAWIE gniguig).
CO eretmugy Baé Aphs ysadger eH&8 Qg sy e lars Hysmeav@samar @O&GH D

CO eraiugy Bésssammw auribsg. @& @QrsssHd o aer adCumECamigydn Qeaambsg
SAenamreys Canngens s(HD. @)hs cﬂ:{m@ﬁmg Gemow. eysallafGuomEgGarmGanar el 300 Wbk
foassamw HEbHE

50° C Qeutuflaeaudley CO erarug) Ni o Lan Gaihg smeaneys Catwgams smo. @sGaion
Avgoidm giut Ni-g S150.

Cupsranw somaafld 6rgi/aamau sMwunereneu?
SemanGgILo shlwmeneney

IT sQwnengs sisver gyarma [, 111, IV eflwureraneu
I I I ol (B ePuareananeu

11, 111, IV bl ®w sflwurereney

33 HLE12
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116. Reduction of ‘smoke and collection of fuel wood’ to check deforestation is promoted by

(A) Community and Institutional Biogas (CIB)
(B) Institutional Bio-gas Plants (IBP)
(C) National Programme on Improved Chullas (NPIC)
(D) National Project on Biogas Development (NPBD)
5TH&ET Bifigema sHUUSDHHTS 1jens WHMID aRQummer wrsa am_gar Coafllssme @@pLUSHETE
FHURSSULIL(HETEn SenLoliLy
(A) Community and Institutional Biogas (C1B)
(B) Institutional Bio-gas Plants (IBP)

QZﬂ National Programme on Improved Chullas (NPIC)

(D) National Project on Biogas Development (NPBD)

117. Which city 1s famous for ‘Kumbh Mela™?
(A) Ujjain . (B) Thrissur

\%\ Hardwar (D) Uttarkhashi

‘BwuCwert AmellpretnE LS GLIHD HETD 6Tgy?

(&) 2 50mudern (B) HA@n

©)  anfggeunt O) esdrama
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118. Article 3 authorises the parliament to

I Form a new state
II.  Increase or diminish the area of any state
III.  Alter the boundaries of any state

IV. Alter the name of any state.

Of these,
(A) T and ]Il are correct (B) II, IIT and IV are correct
(C) I, 1I and III are correct \Qﬂ I, I1, TII and IV arve correct

agfluemoly  o0F (Article) 3er Sp @pHu  unFnE@LEDSADEG QUDMEE HNHETILH

QulprELILL (DETeTsy,

L QW 1|5 LIFDL HWES

I gmuorResdea Hlaourieu sfHaNss oo GamDnss
I wrfledsae aomawsmar v Simwés

IV, wrhlessellar Quweany brHdl i 0w&s.

Qaupdle,
Ay T womd IT eflwmrenenen B) II, III wpmw TV sfwureaensu
€ L II wpoyw [T sMwrerenen D) L IL I wogw IV sfwnaieoss

119. Which one of the following power is NOT in the concurrent list?
(A) Marriage angd divorce (B) Newspapers

\‘y)\ Foreign policy (D) Stamp duties

Spanmauaneudmer QuIgLU L ipwed HHsTTEHO aUTrs s arg?

(A)  Fmwemrd LHMID Qﬂmnsdggj B) mrefisip
(C) Qeavelliymeys Qsmerens (D)  psdewrsrer aay
A 35
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120. Find the remainder when 2% is divided by 5
(A) 2 M) 3

© 1 4
23033 5 oye aubE b Curg Hlal @b B4l eranen?

@) 2 B) 3
) 1 D) 4

121. A six digit number is formed by repeacing a three digit number. Example 341341 etc. Any
number of this form is always divisible by

(A) 1100 (B) 1011

ﬁ 1001 (D) 1010

Q(H cpanny Qss FTaTman WIHLG LD UsSESHD erpd @ n Q&S aar 2 (heunasliu(Hams

o grremd 341341 etc., @B wwlbe 2 (HETEESUUMD aTaETea aLOUTWYSID THS T TR

eUGSELLHW?
(A) 1100 (B) 1011
(C)y 1001 (D) 1010
122. The Universal Serial Bus (USB) standard enables upto devices to be
connected to a Personal Computer.
(A) 130 (B) 128
(C) 150 (D) 127
semh el U9 e F(Hedlsenst Qanerias USB Carlum() 2 gey.
(A) 130 (B) 128
() 150 Dy 127

123. SVGA supports

(A) 1 million colors . ] /(é) 16 million colors

(C) 20 million colors (D) 1 trulion colors

SVGA ergn g, genemr yfl§mg)?

(A 1 Bawen euamanTiisr (B) 16 Bevadlwien cugrenmigar
(C) 20 1 8ewadwen aueTeRTRIGEN (D) 1 HNevellwer cuemtemigser
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124. Match List I with List Il and select the correct answer using the codes given below the lists,

Last] List 11
(a) Resignation of Congress Ministries 1. Singapore
(b)  Sir Stafford Cripps 2. 8 August, 1942
(¢) Quit India Resolution 3. Member of Labour Party
(d) Azad Hind Fauj 4. 1939

(a) (b) (©) (d)

(&) 4 3 1 2
(B) 2 1 4 3
Al 3 2 1
(D) 4 1 2 3

awfleng ILan euflans ITelevants Qummssh eufllensas@nse & Qar@ssuulBeaer Qsmn@lSeyater sfwme
eflen_uQenens Qgifle) Qaus.

cufeng | aifiens 11
(a) srudrs Aepwisrma Usel eNwsa 1. Amus T
(b) aTevLrCGurri HfLs 2. 8 gumev(®, 1942

() QevarenemuGen QeuedGuimy Smismend 3. Qarfipsl S 2 mubernr

(d)y <yers @Eﬁ g 4. 1939

(a) (b) (c) (d)

(A) 4 3 1 2
(B) 2 1 4 3
(C) 4 3 2 1
(D) 4 1 2 3
A 37 HLE12
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125. Find out from the folowing pairs of Sangam Tamijl literature, the one which comes under the
category of Ettuthogai.
(A) Narrinal and Naladiyar (B) Silappadikaram and Manimekalai

(C) Kurinchippattu and Mullaippattu %Agananuru and Purananuru

EGip priul (erer sus sne sl QosdunsEnd abs @@ mwsar Qenar_ uEd TLpsbsTms

mIDsafley s _rRiEn?
(A)  mBHd@enmib BIravg wirmHb (B)  SHeuudstropw waslCuosenewib

(C)  EAERALLI_HID pieatium (b (D) sismragrmbd yomTayrmyi

126. Which of the following is correctly matched?

L Baridshahi Kingdom - Ahmédnagar

II.  Imadshahi Kingdom - Berar

1I1.  Nizamshahi Kingdom - Bijapur

IV.  Adilshahi Kingdom - Bidar

A 1 \,kB{\ 11
(C) 1l ‘ (D) 1V

Sposearm_cupmier sflwre QUTBESIUL(HeTerg) 61g?

L, uflgend Currs - DHELOGS BET

[I. @Euwssrd Cugrs - Shid

III.  Bemberd Curgs - Gepli g

IV,  <igesnd Currs - Soar

A 1 ®B) 11

(C) 1I O IV
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127. A railway engine, which is moving towards the platform with a speed of 20 km/hyr, blows a
whistle of frequency 320 Hz. The apparent frequency of sound heard by a stationary person on
the platform will be

‘/(A)/\ greater than 320 Hz (B) equal to 320 Hz

(C) zero (D) less than 320 Hz

@ gule euany 20 km/h flensCeusgdler pan CuesLemw Curéd 320 Hz eiflrCeuesm Qanasre 2argen

sarflé Qara( eumd Guirsy, CwerLule Herms Asran® gmeut Gal Gw Gerbm id Qe :
(A) 320 Hz el nflswongmn (B) 320 Hz &5 swb 3,60

(©) sPurEw (D) 320 Hz 6L @enmeun(id

128. The source of solar energy is

(A) fission (B) radiation
V(Bﬁ fusion (D) conduction

Gl 2ymmeden Cgmmmyeums

(A ign&am Gerey (B) &dieSse

(O)  Ssiam&sm Cersama D) eLszs®

129. Consider the following statements :
Assertion (A) : Insulin lowers the blood glucose concentration
Reason (R) . Lowered blood glucose concentration stimulates secre'tior} of glucagon
Now select your answers according to the coding scheme given below : '
V(Af‘ Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is not the correct explanation of (4)
(C) (A) 1s true, but (R) is false

(D) (A) is false, but (R) is true

A 39 HLE12
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Epaserr g bhpvaner Heuer :

somm (A) D @ansetlan @)1 assHl F1E8NT ST G DEEI DT
gnyganid (R) L @enhs @ sEET D166 (G EhsCarand rann anrilunemean ards QaLgnyg

Spenamid GHWSE apab sflwurer ellen s Cain0sBos -

A (A) wimh (R) @per(ib M wombd (R) erenug (A)as sfiwme allerd.ai.
(B) (A wimbd (R) @rew®mw 6 whmib (R) srerug (A)e « Muimear eflendswede.
Gy (A &M yenmey (R) gaum

D) (A) peum geaned (R) ol

130. The best known example of waggle dance was exhibited by Honey bees which was first

observed by

(A) Girolami and Bielert 1987 (BY Dixon 1998

(C) Eugave Marais in 1920 ‘/(D‘j\ Karl Von Frisch in 1940
Caafisser gy eurdle pLenid (psedd wryme sdwiul L g?

A)  Hhewmnd wHmw euGai 1987 (B) é&san 1998

(C)  wdleu wrpaav 1920 D) s eurer Lifey 1940

131. Fil in the blank :
Bacteria differ from viruses in being sensitive to —— —.
 “a,  Sugars (B) Proteins
) ¥  Tetracycline (D) Fats and oils
Gamgl L @)L dos Hllus :
umse®wr,  earalas @mng) CoumusNEE STTETD, DAoL —————— &G (GEDare
srdmlenus smi(Heus.

(A) ameasy B) ygsw

(C) Quigrmsdeflen _ (D)  Qamupli) 1omyibd ereirGlarrl
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132. Which of the following pair 1s correctly matched?

Choose the correct answer using code given below.
[ Bharat Nirman . Shelter and basic service needs of poor

II.  Rajiv Awas Yojana © Support for shelter, redevelopment and recreation of

housing stock

I11. Jawaharlal Nehru National

Urban Renewal Mission : Building infrastructure and basic amenities
(A) Tonly (B) Il only
(C) II and III only (D) landIlonly

Spsanc M Qe Garan () sflwne Gaemanw Caia) Gewss.
L. g Hlaomer ¢ gesailer g uLeL Ggameu (DDMID lguS By

1L prgdeu speurey Cuirggent L Eyudmuy LD D M) LD g e WwnyeuenT &S L DHILD
LD GET F@NLOUILY(E) SIenemTiLi musl (Mg

IIL.  meuanierd Crm Gsdluw SiqUuan Geesflumsear womn euamdflés Coensuline
BETLD L&msT TanioliL @ D ey sevlsallen sL(Hnrard

) L@ BT 1L b i

(C) I womw I vl Hd (D) Tuwomw IT w G

133. An developing economy has the following features.
(A) Low per capita income, chronic unemployment occupational pattern
(B) Population pressure

(C) Only (A)
y (A) + (B)

(M GUETIi b au(mid QUMmBETTSTIW LAETEU(HLD GEnTE & an QL hHm6Teng).

(A)  wonbs sor el aimoran, Guorswra Caamaulaeam whmbd Asrfle Gurae
(B) wésaQsrans Hi(psHLH

(C) (A wlpw

D) (W) +(®B)

41 HLE12
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134. The pH of a soft drink is 3 and that of milk is 7. How many times greater is the concentration
of H,O" in soft drink than in milk?

(A) 4 times (B) 40 times

(C) 1,000 times DY 10,000 times

am ealfunasdean pH wHiy 3 wigw wrdlean pH vy 7 aalléd @elfuraisde H,O™ el

Qadley LrenaellL eTHHEMET DL I S HLOTS G(BEHEWD?
A 4 (B) 40

(C) 1,000 (D) 10,000

135. Nicotine upon oxidation with chromic acid gives
\}K{ Pyridine-3-carboxylic acid (B) Pyridine-2-carboxylic acid
(C) Pyridine-4-carboxylic acid | (D) Pyridine-2, 3-dicarboxylic acid
GCrmg sifled vwauBigd HleCam e Griwsans o sednCardno Qaueugre fenLug
(A) Qs 3-srrunsSleds DIbw (B) QAeen-2-sriursfalsd ibevd

(C)  QGfeen-4-grrumsdeds odleow (D) Gflean-2, 3-aLsmrunsflads sl

136. Natural rubber is
(A) Polymer of ethylene (B) Polymer of butadiene
(C) Polymer of acetylene \)B‘) Polymer of 2-methyl butadiene
AWHens FrILT TETLE)
(A)  agdeSen crenugen LIy (B) Oyl meptuSen erarusen Uauig.

(C)  iélyeSan eTenmugen L, D) 2-QugHa Ay LrenLuSen eranLigen LIy
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137. What is special about this group?
‘Mahan Maharaj, Samir, Brahmachari, Shiraz, Minwalla’
V«‘()’ Recepient of Shanti Swarup Bhatnagar Award, 2011
(B) Scientists involved in the research if Higgs Boson
(C) Scientists involved in space research

(D) Recepient of Bharat Ratna, 2011
‘wamen waTITER, #5T, Ayvssrdl, frg, Weneumeor

B8 G pedler Simuy eremesn?
(A) 2011 41> ey hanen snid eveurml UL BaT 69(mg Ceuemneuisar
(B) aMaav Gurevres g rmusfude FHUuCy(HaED el@hesraser
(C)  eam@eued e rmuéfuded FHULHerar 60lghEhral s
(D) 2011 gy HyewmgmaTen ungs gHem 6(mg Qubpeunsar
138. Mr. X wants to establish a broadband wireless net connection for his employers spread over a
radius of 30 kms. The wireless standard he needs to impart to them is
(A) Bluetooth connectivity (B) Infra-red connectivity

/{C) Wimax connectivity (D) Wifi connectivity
30 .8 gyl e GAkg Coenay Qeiybd sang uenllumeris@sss Smeunart. X eisaiiul el
Qsrear 505 Qgmmlder suamas Asmmimar oemwss eNmbUADTT. @eur SeUTSEREE &7

Ceuermig i &9 QFTLMG®T euapeFSEFTLTY ST cTaman? -

(A)  Len@s Asmmy B) sssflasiy Qgrmy
(C)  oeu Cuéev Ay D) el Ay
A 43 HLE12
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139.

140.

Consider the following statements :

In the words of Dr. B.R. Ambedkar, Directive principles of state policy are the “Novel feature”
of the Indian Consfitution because;

L. These principles are in the nature of general divecction or guidance to the state.

II.  They embody the principles or objectives and ideals which union and state governments
must bear in mind while formulating policy and making laws.

Which of the statements given above 1s/are correct?
(A) Tonlv (B Ilonly
\(}7!’! Both I and IT (D) Neither I nor I

Sipbaer curgSwnismar seafl

Dr. . @y @wGugst saBlugneig “ame Qpdls Carl LinBnd, @bdur sipsenlinfear s g Syl e
samrE” golermesme,

I @éou pmigen cuflamquins e eTern e,

II.  wgdu, wrfle Srasa b slLREMeTLD, Qaramssamamn Gunomn Gurg, @eneol 2 gelwrs
EN(HEGLD.

@aundle eranay #flwneareneu?

A) Twlpw (B) 1wl _@Gw

(C) Twomyod b D) T Gevena [id Qevenav

The constitution 52" Amendment Act of 1985 was enacted for what purpose
Choose your answer from the following responses.

(A) To enhance the salaries of Supreme Court and High Court judges

(B) Mizoram was elevated to a ‘state’ from union territory

\j,(o'{\ For outlawing defection

(D) Creation of National Commission for scheduled tribes

1985 gy amized S2eugy ipFluamwi & L_sHnash ashers Qamam(® euglulLg?

Qslh&Eseyn.

I3

sfiwrer edlenenw Caip
(A) o wirgdwearpd wHmd 2 ss8dnenn SHubaalcn abuer 2 wie dans
(B)  wellwar QrGssoms @mns WEGsTrmd’ wrfleowwns wrHmuLL L g
(C) &8 sreud senL Waus

D)  uligweatled o drer Fromanmesren Cs5AU pemaRTLID LSS
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141

Item : Food Clothing Iducation House rent Others
Expenditure : 300 75 40 75 110
When we represent the data on percentage diagram, the percentage of expenditure on

clothing 1s
(A) 18.33% (B) 6.66%

(©)  12.5% (D) 50%

2 (HLillg. . 2.aue| 2.adi. Ligll] @IMLENs GJenanierhanm

Lgavey 300 75 40 75 110

Qar@Résiul (Remer aflcurmimeaner eN(WPEaTH UL eSleTESUIULID (PO eUIGeIOESTER, 2 GPL dsiien
Qeevay eQlipsaT® g
(A) 18.33% (B) 6.66%

y 12.5% D) 50%

142.

143.

If BHASHA is coded as 154754, BRAIN is coded as 13408, AHINSA will be coded as
(A) 458074 (B) 405847
(C) 450847 (D) 450874

BHASHA aasiugy) 154754 arasmud BRAIN eremrg) 13408 arenmyd @dssou_cme AHINSA eranug
ereueunm (BM&EEILHN?

(A) 458074 (B) 405847

(C) 450847 _ \),DS‘ 450874

The sum of odd numbers from 1 to 31 is

(A) 496 LB 256

(C) 240 D) 288

1-eN(mmgy 31 eueny o_arer eneppLILEML eTamsailen g (D& STaNHS &mas :

(A) 496 (B) 256
(C) 240 (D) 288
45 HLE12

[Turn over



144, The Ministry headed by Rajaj in 1937 consisted of the following ministers (Identify the
correct one).

(A) T. Prakasam, V.V. Giri, A.T. Pannirselvam, T.S.S. Rajan

(B) V.V.Giri, T. Prakasam, T.T. Krishnamachari, T.S.S. Rajan

(C) T.T. Krishnamachari, T. Prakasam, A.T. Pannirselvam, S. Ramanathan
MT. Prakasam, V.V. Giri, T.S.S. Rajan, S. Ramanathan

19376 @rrared gepeamoulieoreT sewEsgaaiudild Gaeumueumsar LieowssTgermudmpaent (#flwiman

QENEND BieeLLiTaTD Gss).

(A)  w.9psmen, 6.6l A, 6.4 LatatTAFOAID, 1. 6T6. 6Te0. E)TTImen

(B) efle. &N, q. G7aTEd, w.tq. SpapaTwrssndl, 4.crav.6Tev. @ rrmen

(O gy Smegamondead, 4. GlETE0, o 1. LAIETEFOID, eTav. @TTLBTSE

(D) g QGrarsb, &9.60. 4. g erev.aTen. @rrmes, erav. @FTOKHTSEN '

145. The congress passed the ‘Quit India’ Resolution on 8 August, 1942 for the following reasons :
. L Failure of the Cripps Mission

II.  Japanese {orces moved towards India

[1I. Sympathy with Japan

IV.  To compel the British to accept the demand of Indians for independence

V. To support the Soviet Union.

\/(A) 1, I, and IV are correct (B) 1,11, III and IV are correct

(Cy I, 11,11l and V are correct (D) I, 1§ IV and V are correct

Bemeumb srqanmsErssts 19420 yarn®) waavd 8b prear srudys ‘QeudamanuCGen GeualiGugy’
Soreigens @uinilug)

L AAlen gngis gedlen Comaaullanme

L @sdluree Crrad muumaflwul v sear ypuul L geanme

1L gguurrasﬂil_m STy il @SS ST 6D

V. gadCawursa Qiduisaian ellsme Carfamaanu anmns Qarerar s L ruluBssieusnsrs
V.  Geredws uahuemen ygliuugnenes

@A) L1, whmw [Vis &0 By L 1L I wopod Vo

© I, 1L Il wihmyk Vo & D) L IL IV wppw Vi ef
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146. Match List I with List 1] and select the correct answer using the codes given below the lists.

List I List I1
(a) Gulbadan Begum 1. Padsha Namah
(b) Inayat Xhan 2. Akbar Namah
(¢) Abdul Hamid Lahori 3. Humayun Namah
(d) Abul Fazl 4. Shahajahan Namah
(a) (b) (©) (d)
(A) 4 3 2 1

[N

(B) 3 4 1

e

(D) 3 1 4 2

o
W
['SN
—

aufleng e eauflans [lefenars Gurnmsd euflanss@rnde &9 Qar@ssiu Herar QgmEu9amng
sflwren efen_ulenans Qgfey Qaws.

aufflens | auflens 11

(a) (ougrer Cusd 1. LT QT BT

o

(b) Qewssren ST B
(&)  =iuge anlbg Cars 3. bl LT, @S BT

d)  Siye uTsd 4. QPTESTET HNLOT

(2) (b) (©) d

(A) 4 3 2 1
B) 3 4 1 2
(©) 2 3 4 1
(D) 3 1 4 2
A 47 HLE12
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147. Which of the following is correct regarding steel?

(A) Tron with > 0.5% carbon (B) Iron with < 0.25% carbon

(Cy Iron with 0.25 = 2% carbon (DY Iron with 2 — 4.5% carbon
Epsarapid mpmisefle o dlapani Qurmissiot g6 ez sflwmen gamm?

A) g wan>0.5% amirusn (B) @rouier < 0.25% snfiuey
(C), \ v 0.25 = 2% anmuen (D) @b an 2—4.5% samuen

~

148. Wimbledon 2012 men's Champion Roger Federer belongs to which countrv?
(A) United States of America (B) Spain
(C) Switzerland (D) Germany
2012-& gar(a@Ensares edibderer Camlenueamu Geuanm Grrgr Qugr arbg sm e Ganbgeui?y
(A  2QuissT (B) evQuuilan

ﬁ aveil_sitauh gy (D) Qgirwerf

149. Match the list of provisions and articles which can be amended under Art. 368 and select the

correct answer using the code given below the lists :

Provisions Article
(a) Election of President 1. Art. 54 and 55
(b) High Court for Union territories 2. Art. 241

(¢) Executive powers of union and states 3. Art. 73 and 162

(d) Distribution of legislative powers

between union and states 4. Art. 245 to 255

(a) (b) (c) (d)

) 1 2 3 4
(B) 2 3 4 1
© 4 3 2 1
D) 2 1 4 3
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Sinflwe oy NF I68ea Sp Qaran(® eursss GOMeyser wHMD HTSwe Sewii efdamar

ghluns Quimssayd. Ung &0 Qar(ssiivl.fearar @HuHamer Garan® sflwnes eflenenus

Cerpls (.
Qe SIHAW® Sl 694
()  BYrwres smaeur Csima) 1. Art. 54 wpmb 55
)  wellwer ACsensenae e witdoemd 2. Art. 241
(©)  wsHu LOYD BBl BTEFETHE,
flireuns Sl arymn 3. Art. 73 wpmyn 162
(d)  wsdu vomw wrEle BiyssaNaL S e
slLggiann s amy udiey 4. Art 245-6 @mBE 255 eueny
(a) (b) (©) (d)
(A) 1 2 3 4
(B) 2 3 4 1
©) 4 3 2 1
(D) 2 1 4 3

150. The smallest difference in radiance detected by the satellite sensor is called

%

(B)
(©)

D)

.

Spectral resolution
Spatial resolution
Radiometric resolution

Temporal resolution

W& grevellw Qeutiugens s Blyn tswupamssGamar Spasamimessaic aranseu?

(&)
(B)
(€)

(D)

Blowrena g liuanule Srorei g6
MamQarafl i hueLula Sronallsse
aurQaned LUy SsigliueLwila Sioragga
Crr siglinaL e §oreaflgsea
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151.

Consider the following statcments :

Assertion (A) : 41 percentof the moon surface is never seen [rom the earth.

Reason (R) - The moon rotates and revolves in the same direction as does the earth.
(A) Both(A) and kR) are individually true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are individually true but (R) 1s not a correct explanation of (A)

€y (4) 1s true but (R) 1s false

(D) (A) js false but (R) is true

Epssnanib eunswkisener seuet :
samm (A) o Blasellar 41 ggals L Leflfd eniCurgCo yalu@eaubledama.
amread (R) T Ber yeuilan HCg flenauGmCu sHfl& spavdema.

(A)  (A) whnw (R) QuearhiGuw &f, Cogub (R) aranuig) (A)ellng sMwirer eflarasn.

\}Bﬁ (A) wnmyw (R) @raw®n adl, Cwayid (R) aenug (A)elih@E sNwnar eflargswda.

(C)  (A) sfl syamnew (R) poumy

(D)  (A) seuiny enmed (R) af

. Fujita scale refers to

(A) the scale to assess the severily of flood
(B) the scale Lo assess the carthquake severity
(C) the scale to assess the relative severity and damage of tornado

(D) the scale to assess the cyclonic severity

N sNGET crenm -oamel eTenshd (KMsHng ?
Lkl 1Y 2 5 (5! D&l
() Qeuarargdlen eliysens wHLEAL 2 o sarey

(B) HophsssdHar Falrsoms 0EHUGL o Fabd saTey

\/4657 sype snnbler Felrgams o nihaigb eigard ghuHo sifiaeud whHuGHse

D) ywelen Eallnsems wHUEGL 2 56|b eTey
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153.

154.

Consider the following statements :

The aim of proportional representation is

L. To eradicate the defects in the ordinary system of election.

II.  To ensure the representation of all the people 1n the legislature.

III. To enable minority representation

IV.  To ensure the representation of every minority group as well as majority in proportion to

their electoral strength.
Select your answers using the coding scheme given below
I and IT only (B) I, 1II and III only
(C) II, IIT and IV only (D) I IL Il and IV
Epsaar eursdwrsmer seuef :
sfleldlg Grdslfsaen Camae peavpuler Crrasin,
[.  engryeant Garsed penpulen @ennaener BaEeug
II.  sieass wssellar Grdfldsgasas sl Lsamuuio fleveprl Heug
III.  AnurerennCurfler GrdEldsgeun apu®és
IV.  SpuretennCurmb, QugpbureenwCummbd 1D creranfl&ens&GaDn
CaibgayUuUluL_g56E auamsulane (pem
EpaarL @HluHamer LweTu®BES sflwrer eflenLepw eT(pgy.
A) Twpmywb I bl G B) L II bomyw I wd G
(C) II I womnd I'V vl Hib (D) LII Ol npgyw IV

Match List I with List I1.

List | List IT
(a) Shiksha 1. Metrics
(b) Kalpa 2. Grammar
(¢) Vyakarna 3. Phonetics
(d) Nidhi 4. Astronomy
(8) Chandas 5. Rituals
() Jyotisha 6. Chronology

Select the answer from the codes given below :

(a) (b) © (d) (e) ®

a1 3 2 5 4 6

®B) 2 1 3 6 5 4

© . 5 3 2 1 6 4

,\@3/ 3 5 2 6 1 4
51
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155.

156.

uliqwed Ta s dn il gue g Qummsgs.

g T ulg e I
(a) Sléagn 1 wro@eéd
(b) séwun 2. @ossern
(¢)  eSwranesry 3. gallulwe
(d) A 4. cumeslLIsy
(e)  FemrLmen S FLBIE (PR MEET
() Cgrgsagr 6.  snaé sailly qpen
G saembe aflwure eSepeanu CairbbgHaseab :

() (b) (c) (d) (e) ®

(A) 1 3 2 5 4 6
(B) 2 1 3 6 5 4
(C) 5 3 2 1 6 4
(D) 3 ) 2 6 1 4

Which among the following Thirthankaras completed the concept of “Panchama Dharma” by
adding “Brahmacharya"” as the fifth doctrine?
(A) Rishaba (B) Arishtanemi
(C) Parsva \/CB')/‘ Mahavira
Aﬁ@tag Qar®&Esiul_ L gr'rggréjaur'rs;aﬂ@, ereulm “Grbwerwun” eean smEns Csrgs ‘UEHFL BTLWL’
Comlumien isd Qsuignm?
(A)  Magur (B) @flagwlCrl
(C)y urrgeun (D)  waemmaigm
Which is wrongly matched?
{(A)Y  Zine — Enzymes (B) Iron — Hemoglobin
\ (€, Magnesium — Dry cell (D) Beryllium — X-ray tubes
geupnet QUINmSSEMBE &665 (N1 EED.
(A)  BBBHTELD — GTeNEHEVLD B) @by - afGorgCermien
(C) waafedhwb - o o WIS D) QuAdadwb - X-s8T @Yo
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157. Match the following :

(a) Article 74

(b) Article 356 2.

(©)  Article 370 3.

(d) Article 368 4.
(a) (b) (c) (d)

AN 1 4 3 2

(B) 2 1 4 3

(®) 3 2 1 4

(D) 4 1 3 2

QUTBSE S -

(a) &4 74 1.

(b) el 356 2.

(¢) &A§ 370 3.

@) 94 368 4.
(a) (b) (c) (d)

A 1 4 3 2

(B) 2 1 4 3

(© 3 2 1 4

(D) 4 1 3 2

A 53

Council of Ministers
Amendment Procedure
Jammu and Kashmir

Emergency

seajenélé U whHMaar
S Tflweerliy H(Bgs WpeDEST
MIDP OO STEGET

QAmmes Hlena oiblelliiy

HLE12
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158. Which position was held by all the following personalities?

1.

0

4N

3.

Krishan Kant
Gopal Swarup Pathak

Bairon Singh Shekhawat

Choose the correct answer

(A)
.

\C

Deputy Prime Minister (B) Chairman of UPSC
Chairman of Rajva Sabha (D) Chief Justice of India

Spseit. Slemeneu(hid arhg Ugellanws audl55nTaer?

L.
2.

3.

S(megent HerT
Canume ausueml Liss

anuGynan Ak Caganeung

shwuran eflenL_enw CarbOg(H &&6yLb.

(A)
(B)
©
D)

glevam Qs
wesw veaflwrent CgTey pevenmb Favaweann igasrd
wrfleomsaraeuuls Hamaeu

2 55 BHwanm senaenn FHuS

159. Which one of the following statement 1s correct?

(A)
(B)
(©)

va

A person can enroll as a voter in more than one constituency
A person can enroll as a voter in more than one part of constituency
Only fine 1s imposed for giving false particulars in voter’s registration

Both fine and imprisonment can be imposed for giving false particulars in voter's
registration

BLpeu(meuamaudHmIeT 67H5 & hmy siflwirens)?

(A)
(B)
(©)
(D)

HLE12

@ pul g BargdléE Cud surdareryrs udle] QsliLTD

@ BUT (m GarEHller ve uEdsafie eungsramms LSey Qe

aunsaTenrs udelen Gumrg geupren eAuTd QaT(HEEIL LGNS GETeaGW SermLeneanuwuinEw
awrssreryrs vdleilen Curg seunran edurb CETHSHN® HUFTS QAFTSUD, @f e[ Sevn

sem_snanyybd 69AGE B!
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160.

161.

162.

What is the value of X in Fig. I1?

25 64 9
16 | 22| 36 9 16 1 4 15 1
49 X 81
I II 111
(A) 4 (B) 16
(C) 32 Dy 2
b - 2 emem X-@am bl
25 64 9
16 | 22| 36 5 16 1 4 15 1
49 X 81
I 11 I
(A 4 A 16
(Cy 32 D) 2

For a set of 500 observations variance is found to be 125. If 25 15 added to each observation
and 55 is subtracted then the new variance 18

(A) 95 B) 150

(C) 180 @) 125

o savsdar 500 saLNEs sieredlar wrmur® 125 @b, 25-0 smily Gerart 55-83 el
STl HEW! EPSSTER, Wenemt Y w wriyur reg
(Ay 95 (By 150

(Cy 180 y 125

Two students A and B scored the same average marks in 10 tests and the standard deviation
of marks are 2.5 and 3 respectively for A and B. If the consistency of performance is the
criterion for awarding prize, then

(A) B should get the prize

B) A should get the prize

(C) Both A and B should share the prize equally
(D) Prize winner cannot be decided. Since average mark is not given

@uawr(® wraweuiser A womw B syrefurs 10 Carela @Cr wduQuer Qubny QmbsaT. A wHmbd
B-len i elavsswreang 2.5 wimb 3 wpeanGu. Seursafler Blaouys saen Qurmsesg wills
alprIsLHeug erafle

(A B ufs Qun Geuss (b

B) A ufle Qun Geauasr B

(C)  Awnyw B uflens swwrs 9flgg Qararer GeuaTHLd

(D)  syref wALCQUa AsTHssLULTSHTD UNs Qupuele (Wi 6y Galw Guiwrs

55 HLE12
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163. Match List I with List II and select the correct answer using the codes given below the lists.

(a)
(b)
(©)
(d)

S

©

(D)

Last I

New India

The People’s IFriend

Bante Mataram

Rast Goftar

(a)
2

3

(®

4

(c)

o

(d)

List II

Lala Lajpat Rai
Bipin Chandra Pal
Dadabhai Naoxon

A.O. Hume

ulgwe Jorer ulywe Ilgh Qurmsd, LlgwudsErs@gs &6y o amer QAsnEUNNmbs sfwiman

Aanwlenang Qe Qslia.
L tq e T
(a) Ay Qpdwr
(b & Suyeren Sl e
©)  eupGs wsID
(d)  grevc Camuum
(a) (b) (c)
A) 2 4 1
B) 3 1 4
(C) 4 3 2
(D) 2 1 3
HLE12

(d)

o

56

uliguied I1

SOTEIT QERLIG (Tl
Gidem sm8\7 Umed
sngmunis GperGrmed)

&7 bl



164. Under the leadership of Khan Abdul Ghaffar Khan, popularly known as ‘The Frontier Gandh?
the Pathans organised the society of Khudai Khidmutgar (or servants of god), known
popularly as

(A) White shirts (B) Red army

(C) Red shirts (D) White army

‘srvene &THS eren LEDPAUDHD sraT BLGID FUNT Sren gavevewlid ugnafluiser ‘Gl Hsbssren’

(sLeyeflenr  Goeusiser) eaaigd shissmps Gm_mdlan. oig @eragran arerdeue)

SMlwaLg?
(A) Qeudreners Fi_snL_ser (B) Ssuyu ues
\}GT HELE sl en_GeT (D)  Qajeraneml ueni

165. Match List I with List I and select the correct answer using the codes given below the lists.

List I List 11

Poets Works
(a) Kalidasa 1.  Ashtanga Sangrata
(b) Vishnu Sarma 2. Surya Siddhanta
(¢) Aryabhatta 3. Panchatantra
(d) Vaghbhatta 4, Sakuntalam
Codes

(a) (b) (c) (d)

9] 4 3 2 1
(B) 3 4 1 2
(©) 1 2 3 4
(D) 2 1 4 3
A , 57 HLE12
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pe® uliguienaud, @reariress ulguieeud @uIll. Epssare Osr@lnlear gewemGuir(,
sfluren e e BieN&saib.

Ly e J L g we 1
Heveuraen LB &mI&ET
(a) sneflgnant 1. SHEGL MRS STl FHELD

o

(b)  elleman afom &M EFsThaid
LB

EMGHEDID

w

(c ST LT

Mo

(d) emsmna
STy
(a) (b} (c) (d)

(A) 4 3 P 1
(B) 3 4 1 2
(©) 1 2 3 4
D) 2 ) 4 3

166. In which Edict did Ashoka declare his faith in Buddha, Dharma and Sanga?

(A) Maski Minor Rock Fdict (B) Rumminedi Minor Pillar Edict

(C) Sarnath Pillar Edict @’ Bhabra Minor Rock Edict

THELGILLQIETIT SipF ppaarie UgsT. sMom, shsn @eupidles ure) HnGHTET semayeniu
rHuUr_eL BiNledsgenari?

(A)  wrevdlan Ay Genm seGeul () B)  ®LACHEG WG Ay gram seobeul ()

(C)  smiprgHen grer sobeu{ (D)  wurlgn oy @Gerny HOQeuLH

167. Why Lord Canning was called as Clemency Canning?
(A) He loved Indrans and gave them high posts
\}B), He issued general pardon to the mutineers
(C) He reduced land tax
(D) He was appointed as the First Viceroy under British Crown

srefin Sy “smenaujarar srefin” eremmy ciapdsinl L g een?

(A) @rdwnseflen 8g Bgns anGun® 2wrugelsamer eupruduigre

B)  Auurd seesdHéd mHulL sewatems@En Qung waraflly euphdngre
(C) He ewflevws jeulr GamnSESTED

D) 9OMgey siperhissden apsa aveudlgruns seul HLB&EEOULL gre

HLE12 58 A



168.

169.

In the digestion of carbohydrates, the following sugars are converted to their simpler forms
I. Starch — Maltose + Isomaltose

II.  Maltose — Glucose

I1I. Lactose — Maltose

IV.  Sucrose — Glucose + Fructose

Which one is/are correct?

(A) Talone (B) 1II and III

(C) T NlandIV \);B’)ﬂ [, 1l and IV
anrCurenapL_Crl. Qefwrergde, Spsaranb srdasmrl Qurmisar sxeupdear eallu eugemseans
wrHpuuBEermen.

I. oL — wrel GLrev + mGernréd CLmay

II.  wrélCumey — GEnrsGamen

Il ers  Gume — wrol Gumen

IV. &5Cgmenv — @ensCaneay + Gral Crman

ergy/ eremeu &2

(A) TwolEwn (B) Il wpmw III
(C) 11, I wpmn IV D) LI oogw IV

Match List I with List IT and select your answer using the codes given below :
List I List II
(2) Smallest flower 1. Dischidia rafflesia
(b) Biggest flower 2. Canna
(¢) Irregular flower 3. Phylanthus
(d) Monochlamydous flower 4, Wolfia
Codes :
(a) (b) (c) (d)
(A) 2 1 3 4
(B) 1 2 3 4
(©) 3 4 1 2
N 1 2 3
59 HLE12
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Lilwwd In ulgwd I e durmss, §Cyp SerBssiu (e ghdlBsomad Qeran® afluiner
Neor_enw:g CanibOz 0 -

U g wen [ un gy 1
(a) yelld Baayd Sifluig 1. gevdhigwr grllsiledum
(b)  eSlev thaeyw Qumwsy 2. SOBITEDLY
(¢)  swEsrmm iy 3. QeCavetgen
(@) ebell cull L ol Gub 2amer 1, 4. 2 enShwn
GG

() (b) (© (d)

(A) 2 1 3 4
(B) 1 2 3 4
© 3 4 1 2
(D) 4 1 2 3

170. A 1s the assertion and R 1s the reason. Examine these two statements carefidly and select the
answer using the code given below :

A:  We are able to hear the sound behind the walls or obstacles

R: When the wavelength of a wave is comparable or less than that of an obstacle, diffraction

happens.

\/({—Q Both A and R are individually true and R is the correct explanation ofA_
(B) Both A and R are individually true but R is not the correct explanation of A
(C) Aistrue; but R is false
(D) A s false; but R is true

A aaug s&Dm. R eerug smyemn. Qeaneumn @res® eursdumigaet oping, Gensriul e

GAuyssmen LaTuRSH edlenwalsse .
A, seul DOiD SL_sERsEGLI Neral Q(nhg aumb Gedlenws b CalACpabd

R, gf sewela gmaferd @iga uresguia odmer genLsam womd Qurml sefar etellpEe

gwwraGeun, geanaunaGor Qmhsra. elleflvy euamara] 6rmuBib.
(A)  Awdmidb Reansdlunsd safsgaflGu ofl. R erenug) Adarar sflunean sojeamd
(B) Awvpmbd Rensfluiiser saflssafiCu o aramw. gyemmed R aranugy Assnet e b <ieve
(C) Asf RsNuoe

(D) Raf, eyeared A sMwee

HLE12 60 | A



171. Consider the given Fig. of ocean currents around North America. Match List I with List II and
select the correct using the code given below lists.

(a)
(b)
©)
(d)

(A)
B)
(©)

o

List I
Current Number
I
1I
111
v

(a) (b)

3 4

2 1

4 2

1 3

(c)

- W oro

(d)

[NCJER RN Ny

North

BN

Ajmerica

List IT

Current Name
Alaska

Gulf stream
California
Labrador

QsrHssLulHerar euL.nQuilgsrameus soduarer s BECITLL s LLdomg smasH Qarars.
auflens [ cuflens 11 Qummas, sftwirer Hui® o_erar Lflevas CorHRs6HES.

(a)
(b)
(©

&)
(B)
(©
D)

cuflensg 1

BCyml L erek

1

1I

111

v

(a) (b)

3 4
2 1
4 2
1 3

[\

S o

™

(d)

DD = B =

2uN&ss

1.
2.
3.
4.

61

>m

=
v

suiflens 11
ECym_Lgdes Quuwr
STV EIT

&L FCym_L b
sONGuUriTerur

QUL

HLE12
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172, Match the following Neolithic centres of paintings with their districts.

(a) The Son Valley 1. Raigarh

(b) Manikpur ' 2. Mirzapur

(¢) Singanpur 3. Central Province
(d) Hoshangabad 4. Uttar Pradesh

Select the answer from the codes given below :

(a) (b) (0) (d)

v@{ 2 4 1 3

(B) 1 2 3 4
(C) 3 4 1 2
(D) 4 3 2 1

LSISDETOL @Sl @LOILBISENET DIBET DTEIL L ESHEHLGT QUT(HEH)E.

(a) Csmen LiGTeTEETEE 1. TrL&TH

(b) rai&T 2. Wlrens Ly

() Amsmanym 3. wsdwu wrsramid
(d) Caproghisrung 4. o5y UCasn

GMNIGsaNemig sfwuren aaamw CarbosH&sey :

(a) (b) (©) (d)

(A) 2 4 1 3
®) 1 2 3 4
(®) 3 4 1 2
D) 4 3 2 1

HLE12 62



173. The title ‘Sardar’ was given to Vallabhbhai Patel during the
(A) Salt Satyagraha V(/Bj Bardoli Satyagraha

(C) Civil Disobedience Movement (D) Cabinet Mission arrival
‘signt erayb UL ib euevernmil Ul GLays @ @bHlapsdluilan Curg seflgsuulLg
(A)  eodyssHundlysn (B) unCarall s58wnflgaid

(C) el byl Quisad (D)  snlenl sienwast G eumansuden Cuimg,

174. Who had sing songs on Nammalwar as God instead of Thirumal?
(A) Mathurakavi Alwar (B) Thontaratippodi Alwar
(C) Poikaialwar (D) Thiruppanazhwar

DAENEU LUTLTOE BbnmpaunenGw GEIWIaubmsls UM uiedm wir?
® I P 3 9
\/Qf% warsewmpeun (B) Qsram_gigu@umguimpeuri

(C)y  Qumruerswmrpeun (D) Apuunesmpauit

175. Match the following :

Quotations Authors

(a) Mathar thammai Izhivu ceyyum 1 Kavimani Thecika Vinayakam Pillai

Matamaiyal Koluthuvom
(b) Kalvi yillatha penkal Kalarnilam 2. Bharathiar

(¢) Mankaiyaral Pirappatharku — Nalla 3. Namakkal Kavinjar
Mathavam Ceithita Vendum

(d) Tamilar enru Sollata — 4.  Bharathidhasan
Thalai nimirnthu Nillata

(a) (b) (©) (d)

(A) 4 1 3 2
(B) 1 3 2 4
' x/éi 2 4 1 3
(D) 3 2 4 1
A , 63 HLE12
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Spsaranid Qom_ramot seupiie cufdursGen® Qummdgs :

(@)  wrgt gbow Qe Galub bemwenwd 1.
QamerggGourid
by sdeNulldons Quem sar sort Bleid 2.
()  wmamswrm plusnCs - noe 3.
wrgeud Qaud Geuaw(Hio
(d)  sblpen arciy QerdeLa, sea BAThg 4.
Heéveorm
(a) (b) (c) (d)
(A) 4 1 3 2
(B) 1 3 2 4
(©) 2 4 1 3
D) 3 2 4 1
176. Match Last I with List I1.
List I
Thermal power projects
(a) Dhurvan 1.
(b) XKorba 2.
(¢) Obra 3.
(d) Talcher 4.
(a) (b) (c) (d)
(A) 1 3 2 4
(B) 1 2 3 4
SO 1 4 3 2
(D) 1 3 4 2
Dl g wied Temenm iy wied 1T 216 Qummsss.
Llguwe |
Sierrad Wan AL riser
(a)  gimeuen 1.
(b) Qamiur 2.
() euynm 3.
(d) srdsen 4.
(a) (b) (o) (d)
(A) 1 3 2 4
B) 1 2 3 4
(©) 1 4 3 2
(D) 1 3 4 2
HLE12 64

Qg iser

&6 @5 a6

scliwexfl Cafa eQpiuwish Gearener

urgdwry

BILD&SHED 565 GHT

urydsmFen

List II

States

Gujarat

Orissa

Uttar Pradesh
Madhya Pradesh

vl gwe I1
wrhlemsar
GRS

fer

2 5817 9rCaaid
wgdu ArCsaw



177. Match the following :

(2)

(b)
(c)

(d)

®)
(©
D)

Wermeumeusneumenn GQLIMMEE)SE |

(a)

(b)
(©)

(d)

(A)
(B)
(©)
D)

Writs

Habeas Corpus

Prohibition

Certriorari

Quo-warranto

() (b)
3 1
1 2
2 3
3 4

BHUGUnTan st

o

<24, 10 & T 6Bt T 2,60 awr

B DT

GApdlapern 2 posea
558 pemaila
(a) (b)
3 1
1 o
2 3
3 4

(c)

[R]

(d)

o

65

Feature

not available against administrative

authorities
cannot be applied against ministerial office

may be applied by a stranger or a social

worker who need not be an affected person

not available against legislative bodies and

private individuals

SILDFLD
Areuns flsrilsensg adims GrCundés
@uwieorg)

DOWEENHERGE erhrns GrCurdss @uweng

WL, LFHULE&EGETETTETS CTHS Fps
S Teuav(mLd Camremd
FLLWDED HWULEKET wHND SaNEUTESERES

adlyrs ArCGurdas @weang

HLE12
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178. Match the following 1s correct answer.

(a) Manikodi 1. G. Subramanpi Ivvar
fb)  Eluthu 2. Thiru. V1. Ka.
(¢)  Sudesamitiran 3. P.S Ramaiha
(d) Nava Sakthi 4.  C.Su. Cellappa.
Codes :
(a) (b) (© (d)
(A) 1 2 3 4
By 4 1 o 3
(© 2 3 4 1
(D) 3 4 1 2
vligwe Ip ulgwe I o ar Qur@psd. ECp CerBssuuc(Berer @HlUHsmars Qaran® shurer
eflavemwg Campbs®
Ll iged | Ll qwa 1
(a) wallsQemny 1. o &L weilu gui
) awss 2. dmed.s.
(©) &Csas05dren 3. Qerev. prepwwT
(d) meussd 4. & .&. Qrdeolur
CICETI
() (b) () (d)

(A) 1 2 3 4
®B) 4 1 2 3
(®) 2 3 4 1

s 4 1 2

179. Find the odd man out:

(A) Thiruthonda Thokai (B) Thiruthondar Thiruvanthathi
(C) Thiruthondar Puranam (D) Thiruvilaiyatal Puranam

Sipsanamuaelboe QUIBSSLOND5E @DLIAHS.
(A)  HmsQgrar_shsrems (B)  HmsLsreawi Hmeupsrs
(C)  HmaQgmanri_i ygreamd W@@aﬂmm’mm;@qr}n@mm

HLE12 66 A



180. Match List [ with List II and select the correct answer using the codes given below the lists.

List ] List IT
(a) Direct Action Day 1. 20 February, 1947
(b) Interim Government 2 3 June, 1947
(¢) Mountbatten Plan 3. 16 August, 1946
(d) Attlee’s statement 4. 2 September. 1946

@ b © @

(A) 3 4 2 1
(B) 3 1 2 4
\éﬂ)’ 3 4 1 2
(D) 4 3 2 1

auflens o i an culans Tlelamers Quipsd cullassensE S Qarhssuul Bae QsmEuempbg
sflwney eSen_WGenand Gsfley Qaws.

aufeng | auflens 11
(&) Crlleo s Qeuieprer 1. 20 Qugeur, 1947
(b) QL ssTe TS 2. 3 g6, 1947
(¢) Queremn Cunliam A b 3. 16 gypsav(®. 1946
(d) e aulesr Sifleduy 4.  2Q@sULurm 1946

(a) (b) (© (d)

(A) 3 4 2 1
(B) 3 1 2 4
© 3 4 1 2
@) 4 3 ) 1
A 67 HLE12
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181. Which one of the following fundamental vights is applhcable only to citizens and not to
foreigners?

(A) Equality before law
(B) Right to elementary education
(C) Freedom to manage religious affairs
\}D& Right of minorities to establish and admainister educational institutions
QWeU@GuaU_Tmrrbgmr G 10E5ERsE St ss Gupn T Qesaliprl _aumsE daLbssn Quprs
o flenwo 61gy?
(A)  FLL&EEHDE (per s
(B) yrou samalssras 2 Mano
(C)  sww Alspeysmaer Cuamesd &&HE 7o

(D) seoed Fyeuassamer Himed HieufléEn Hmuraamwudamssie o Mamw

182. Which of the following provisions came into force even before the commencement of the

Constitution of Incia?

(A) Fundamental Rights

B Citizenship
(C) Directive Principles of State Policy

(D) Amendments to the Constitution

Qeraumb bsmsai® @rHu srfiaebliy fa (papnsE, eumeausne apandmpGs Qewmuri iy nE
UHSS 512

(A)  sigluent 2 Mepinsar

B) Eyufemw

(C)  <irs Qaraiesuiiar andar () GpdaeT

D)  @rdwaawnliy Smssrsee

HLE12 68 A



183. Match the following List I and List I and select the correct answer.

List T
(a) Cyano bacteria 1.
(b) Ammonifying bacteria 2.
(¢) Photosyuthetic bacteria 3.
(d) Denitrifying bactena 4.

Find the choice of correct combination.

(a) (b) (c) (d)

(A) 1 2 4 3
(B) 1 2 3 4
(&) 4 3 2 1

\)Df 4 3 1 2

List T1

Rhodospirillum
Thiobacillus
Bacillus

Nostoc

Epseame Ll qwd [g ulywe I 2 Lear Qurméd. sflures alenL g CoriEs(.

g wen
(2) enawGer UmdeMun 1.
(b)  uwCuraflumeurs@n urgeNur 2.
(©) oasCsisems ungudwn 3.
(d) enplymenar @anms@n unsleflum 4.

#flwursl) dummssiul L mss CsimbosHasaw.

(a) (b) (©) (d)

(A) 1 2 4 3
B 1 2 3 4
(C) 4 3 2 1
(D) 4 3 1 9
A 69

ulguwied 1T

CarGLrevenufaesin

asGwr Cudaay

urféveven

BIeuL M8

HLE12
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184. Consider the following pairs :

L. Willy-Willies - Australia
II. Typhoons ~ China
IIT. Hurricane —  Japan

Which of the pair given above is/are correct?

(A) Tonly O land T

(C) Il and I1I (D) 1l only

Waraumin @enemaner s(hehle Qardrs
[.  sflead-adwaliar ~ e Cradium
Il evyensa - Sar
NI enfiCaen - suumen
- CunEHlullL @aanseaid agl af?
(A) TwlEwvw (B) T womwll

© 1 opmyo 111 D) Il ol @o

185. Match the Geological Era with their periods.

(a) Precambrian 1. Jurassic
(b) Cenozoic 2. Archaen
(¢) Mesozoic 3. Silurian
(d) Palaeozoic 4.  Eocene

(a) (b) (c) (d)

7 4 1 3

(B) 3 2 4 1
(®) 4 1 3 2
D) 1 3 2 4

HLE12 70



Hel e i WashiseaneT Higangen &rorgGarm® Quimmsgs.

(a) CaulflweyseE wearsrwn 1. gegréls

()  QsCamGsmus ujsib 2. eyiGswer

(©  BSCenCeni@s wsi 3. Agnfuen

(d) Gareoguimyswn 4. @Cunélen
(a) (b) (©) (d)

(A) 2 4 1 3

B 3 2 4 1

(C) 4 1 3 2

(D) 1 3 2 4

186. Match the following :

(a) Doctor wind 1. Switzerland

(b)  Cherry blossom 2. Sahara of Africa

(¢) Blood rain 3. South Italy

(d) Foehn 4. Karnataka (India)
(a) (b) (c) (d)

(A) 1 3 2 4

. 4 3 1

(C) 3 2 4 1

(D) 4 1 3 2

Spasar_supenn sNwng QUMmHsES

(8) b emhm | 1. sl st

(by Q&M uresd 2. senT (UG AEET)

©  Guis wey 3. Jspe @ssra

(d) wumen 4.  srprLsT (@BHwm)
(a) (b) (c) (d)

(A) 1 3 2 4

(B) 2 4 3 1

(C) 3 2 4 1

D) 4 1 3 2

A 71 HLE12
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187. Arrange the following divisions of the Vijayanagar Empire in descending order.

L Rajyams
II. Kurrams

III. Valanadus

IV. Nadus
Ay 1 IIL 1V, 11 @) LI IV, 1T
© II LIV, I | D) 1 1111, 1V

Weneupid eflguipsrn Cuprélen Yflaisamer @QnmE aufllamewiics aripgy.
1. 1T 80 251 U M) G560

II.  saborsen

Il euenpr@®ser

IV.  mrimser
O LILIV I - (B) I 1L IV, 1I
(C) TI, IIL, IV, 1 (D) I, 1L, 11, 1V

188. Point out the wrong statement in the following :

Statements :

(A) Samudra Gupta defeated 12 kingdoms in the South

(B) TFahien’s travel account deals with the conditions of the Gupta Empire
‘Q}Y Skanda Gupta was defeated by the Huns

(D) Kumara Gupta issued silver coins in Western India

Spasam_ smsgssella goupnatans sliys sramiSsseyn.

&(HSS|SSET :

(A)  spsdly gLst Opeanaphuineile 12 mpsamer Qouenmia

(B) uradlwrailsr sy @Bl @GUg sTorTRwsSHer Flavaemwan edersEHng)
(C) evaps GUST apDantgearme CHTHEQSSILLL M

(D)  @wry ELsi Cohe @bdHwurald Ceuerafl BrasrwimsameT auipriderTi

HLE12 72



189. The state of matter in their increasing order of entropy is

(A)
(B
(C)

v

Solds, Liquids, Gases, BECs
Liquids. Gases, BEECs, Solids
Gases, Liquids, Solids, BECs
BECs, Solids, Liquids, Gases

uU@unmetlen Klencwaerg srang.Cymilamer omeufansuliay @ filiug

(A)
(B)
©)
(D)

Serrpiiger, Hreuniaat, cumysser. 19.@).8.sar
Apuriser, eurusaer, 19 (@).&). g1, Aamwobisen
eumnsae. Slyeukisa, Saromse, 9.E). 5l san

19.0) 4).sén. Slatiomser, Hyeirisem, e Eedr

190. Rlack Sea is named so because

(&)

it 1s black 1n colour

ﬂ of its rich concentration of micro algae

191.

(C)
(D)

ts, water converts evervthing into black

both (A) anad (C)

S(HRSL O eTaarm) Quwi @ UL g (HUUSDESITET &STiyemD

(A)
(B)
(®)
D)

(a)
(b)
()
(d)

(A)
BT

(®)

(D)

2igl smenio Aol G uupme

miar sLHUrdluler H@duimes Gaeller snyemons

BIFan BT iemengenHuLd S HngSn @ wrHmeusred

(1) LOL (Q) WS Qrar B

Match the following :

Maulana Abul Kalam Azad 1.
Mahatma Gandhi 2.
Allan Octavian Hume 3.
Dr. Rajendra Prasad 4.
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(b)  warsw snpH waeallen BewrLien

(¢)  peven o 5GLelUen QDD 3. & anfiggen
(d) s GonCabdly Srsng 1. @ adleome

(a) (b) (© (d)

(4) 1 2 3 4
(B) 4 3 2 1
(©) 2 1 1 3
(D) 3 1 2 4

192. Which one of the following 1s a polar orbiting satellite?
(A) INSAT (B) GSAT
(C) METSAT ( Resource sat
SLp&HHEITL U DHMIET Gi(Haull UTasewF FHmb QswnenssGamar erg)?
(A) INSAT (B) GSAT

(C)y METSAT (D) Resource sat

193. Thermal power stations are located in
’ 'A)3 Tuticorin, Ramagundam, Rajghat (B) Narora, Kaiga, Palghat
(C) Caddalove, Kota, Tarapur (D) Salem, Pune, Narora
Sieoed Wl Bleneo i BI&eT HIEHDBEIETET @IL_BI&ET
(A)  g1588BY., TTDEETL LD, FrE&TL (B)  sCrmyn, mssT, LIOSTL

(O sLgr, Gamiin, srymigyd (D) CGsouw, 1yGar, sGragm
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194. Match the following :

(a)
(b)
(©)
(d)

Manchester of South India
Little Japan
Textile Capital of TamilNadu

Detroit of South Asia

(a) (b) (c) - (d)

\);B‘ 3 1 4 2
(B) 3 1 2 4
(€ 1 3 4 2
(D) 2 1 3 4
Qurms5S
(a) Qsen QuSwurelsr wrenGeavLT
(b) Gy mwlurer
(¢) Opsais gOOLBETD
(d) Ospsrdureden QL ymi.

(a) (b) (©) (d)
(A) 3 1 4 2
(B) 3 1 2 4
(®) 1 3 4 2
(D) 2 1 3 4

195. Deflation refers to a condition of

A

©

1.  Sivakasy

2. Chennal

3. Coimbatore
4, Karur

1. feusrd

2. Qsenenen

3. Gamubygagni

falling

constant

4. ST
prices.
(B) rising

(D) moderate

LesTeum_ LD aTetu gy eSlapavullan aThs Hlenaenii s @mla@wn ?

(A)
©

dane GDHE
aflena HlavaiuBssiuHse

(B) eleve 2 wiige

(D)  Ngwrer ellaa 2 ufigeo
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196. ldentify the odd one from the group of matevials given below ¢

Glass. cbonite, copper, rubber

(A)  ebonite \/(R’ﬂ copper

(C) ¢lass (D) rubber
&Cyp QanBesuul_Herer QUG Lsallen GywEENG IUTEDITEUDOD STl .
semressiy, eTGUTanaT ., &TUIs, TULf.

(A eCunrenenl (B) &rourn

(C) sewrewimig (D) goumr

197. Which of the following statements about 'sound’ 18 TRUIL?
I It consists of longitudinal and transverse pressure waves
IT. I.t travels through vacuum
ITI. Beats are produced due to interference of sound waves
[V. Intensity of sound 1s measured in Hertz
(A) TandlIl B) Ilonly
(C) I only (D) TII and IV
@alepnits Lpdlus SpaaL gmpmsaild eNuramey aares?
I pallurang) QELLe@sar hmID GN6H&mHeT Caremr g
Il gdwrearg Qeunil_sSlepb LwesflseEn
I & semesden gnasl 6 alemareilanmad o @ _reug) el BT -2 @0
IV. o eime Qedlellen e, Hamt e @

(A) 1 wopmb 11 B) 1w fo

ﬂ IIT vl (G (D) T wnmpmhd TV
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198 Which of the following compilation of Nalayira Divya Prabandam (4000 sacred Hymns) 1s
correctly matched?

(A)  First thousand Hymns — [varpa
\)B()ﬂ Second thousand Hymns — Periya Thirumozhi
(C) Third thousand Hymns — Thiruvaimozhi
(D) TFourth thousand Hymns — Thirumozhi
Sipssa_sunmien srevmudy Heuwl Gyupssdern s QarEuy sflwrs Qummssuul Hererg,?
(A)  @Waerulrn urCagse — @uidLir
(B)  @yasrorufyn urdser — Quilu HnEwmgdl

(C)  epamprongn uredast — HmeumuQuwr

(D)  prasrwmlgw uridser - Hm&vnyd

199. Purat;.h Thooimai Necraan Amaiyum; Agath Thooimai.....
(A) Thavaththaan Varum ﬂ Vaaymaiyan Kaanappadum
(C) Thoontak Kedum (D) Olivodu Ozhugappadum
Um& ST Bmem <Hepwib; HSSHIIEHD eTEaTa fluiiuBin?
(A)  seugsne au(mHLd (B)  eumbenswimsst smerriuiid

(C)  srarLs Qs (D)  @aQur® guasiuBn

200. Which of the following 1s called as ‘Thodar Nilaicheyyul’?
(A) Neethi Tlakkiyam (B) Ettuthokal Noolkal
(& Epic Literature (D) Pillaithamizh Ilakkiyam

‘@arin Hlepars Qawwer erarp QFmL_r & (Hbd @esd euems erg:?

(A)  £4 @Qesdwn (B) al(ps@snens mrévser
(C)  sribw Qesdwibd (D) WQaemarss iy Qesdwbd
A 77 HLE12
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